- S BAINEL
BAINEL AUTOPARTS

BAINEL AUTOPARTS is engaged in trading and manufacturing
chassis parts since 2012 .

We are-professional in trading and manufacturing parts:
Suspension System

Brake System

Drive Shaft

Engine Parts

Body parts...




1.Control Arm
2.Tie Rod end
3.Ball Joint

4. Stabilizer Link
5.Tie Rod

6.Axial Rod

7.5teering Knuckle
&.Brake Caliper
9.Brake Cylinder
10.Cam Shaft
11.0il Filter
12.Cylinder Head
13.Brake Disc

14 Wheel Hub Bearing

All other parts for the car module,Please consult customer service for details.
Sales@bainel-autoparts.com



ALY

AUDI
437407151A |200 (44, 44Q) [1983-1991] SR
BMNO3700153 | 431407155A |200 Avant (44, 44Q) [1983-1991] L“”E h_'égﬂ L S —e
4434071518 [500 (44, 440, C3) [1982-1991] m?”_gt e ;“'“
5000 Estate (44, 44Q_ C3) [1982-1990] |VV&ght 2.5 kg
AUDI .
A3TA0T15248 Front Axle, Right. Lower
AzTADTISEA |00 44, 4450 [1953-4991] Cone Size: '189:111m PN
BNO3700154 200 Avant (44, 44Q) [1983-1991] g
4434071524 Length: 380 mm
un34071505 |200 (44, 44Q. C3) [1982-1991] el il
5000 Estate (44, 44Q, C3) [1982-1990] |YWeight: 2.5 kg
AUDI
Front Axle, Left, Lower
80 Avant (8C. B4) [1991-1996] oy x
BMO3700155 3953&?;4?,&. 90 (8C, B4) [1991-1994] g“”e g!ze__ :'Ig b
CABRIOLET (8G7. B4) [1991-2000] W"”.E t-lzzeic R
COUPE (89. 8B) [1985-1996] eaght=2 kg
AUDI
80 Avant (8C. B4) [1991-1996] Front Axle, Right, Lower
BNO3700156 BSE&?EJ“B‘A a0 (8C, B4) [1991-1994] Cone Size: 19 mm
CABRIOLET (8G7. B4) [1991-2000] Weight: 2.550 kg
COUPE (89. 8B) [1988-1996]
AUDI
Front Axle, Left
BM03700157/| s934o71aye 3000 (89. 83Q, 8A. B3) [1986-1931] Cone Size: 19 mm
90 (89, 89Q, 84, B3) [1987-1991] Weight: 2.213 k
COUPE (89, 8B) [19858-1996] - g
AUDI .
Cone Size: 19 mm
BM03700158 | 8934o71ase |3000 (89, 83Q, 8A, B3) [1386-1991] Lower Front Axle
90 (89, 89Q, 84, B3) [1987-1991] Weight. 2 226023 k
COUPE (89, 8B) [1988-1996] - 9
BED407505A |AUDI = e
8D0407505B |A4 (8D2, B5) [1994-2001]A4 (BE2, BE) Lm"“ 5 2?;3 S i S s
BM03700159 | 8D0407505F [[2000-2004]A4 (BEC. BT) [2004- CE”Q'L TS 1’;"‘ & o
SD0407505H 2008144 Avant (8D5, B5) [1994- W“’TE _'203'52 k“"“
8D0407505K  |2001]4A4 Avant (BES, BE) [2001- . s g

All other parts for the car module,Please consult customer service for details.

Sales@bainel-autoparts.com




AL

AUDI
Length: 338 mm
A3 (8L1) [1996-2003
1J0422821A ( = E} [ ] Weight: 0.63 kg
ERIOGMaRL2 100422807 |l Outer thread 1: M16x1.5 m
OCTAVIA (1U2) [1996-2010]OCTAVIA D“ o hread T M14“1-5 PESCER
Combi (1U5) [1998-2010] it -0 PO
1J04228218 [AUDI Outer thread 2: M16X1.5 mm
1104228074 (Did not find cormesponding models Length:- 340 cm
= T ——
BMNOG000043 | 1J0422807B |(SEAT Width: 36 cm
1J0422807E Did not find carresponding models Weight: 0.56 kg
1J0422807F |SKODA Outer thread 1: M14>1.5 mm
Cruter thread 2: M16x1.5 mim
Fitting Position: Front Axle left and -
BNOGOU0D44 | 8S0423810A [N (FAS), [2014-]TT Roadster right i =
=) 2aa-] Length: 214 mm
Weight: 0.57 kg
AU Length: 313 mm
BC0423810C  |AT (88X, 8xF) [2010-] Thread Measurement 1: BM1dx1.5 *_
BMOG000045 | 6C04238108B A1 Sportback (8XA,. 8XK) [2011-] Thread Size 2- M14X1.5 )
BC042381048 |SEAT Front Axle left and right
TOLEDO IV (KG3) [2012-] Weight: 0.64 kg
AUDI
, Front Axle left and right
AG (AG2, CT. 4GC) [2010-] :
BMNOG000046 4‘3”34?253_'13; OA a6 Avant (4G5, CT. 4GD) [2011] ?“tﬁrthreaﬁ_%;g"gﬁ x T30 RAT M MM | el
A7 Sportback (4GA, 4GF) [2010] w“ti“ ‘?”091550 - Ch
A8 (AH_) [2009-] eight:- 0. g
Front Axle left and right
BZ0419810A | Length: 290.5 mm
BMNOG0O00047 | 8Z0419803A Thread Measurement 1: M14x1.5 =7 e —
2704198044, |72 (820) [2000-2005] Thread Size 2- M14x1.5 -
Weight: 0.6 kg
8Z0423810D
9704238100 Front Axle left and right
BMNOG000048 | 8Z0423810c |AUDI Total Length: 327.6 mm ——
a70423810F |42 (BZ0) [2000-2005] Owuter thread 2- M14 x 1.50 RHT M mm .
870423803 Weight: 0.646 kg

All other parts for the car module,Please consult customer service for details.
Sales@bainel-autoparts.com




A ]
\\.' |

UNIVERSAL CERTIFICATION CENTRE CO.-. LTD.
QUALITY MANAGHMENT SYSTEM CERTIFICATE
Pl | ORI AHERTTIRM

Certificate of Compliance
Rin 3108 R ALAATTRS

SF
ISR
Fc ; Certificate of Registration

Thbswrifles shiad tha Crisdiey Sl anagornan Sysina of

Weicheng Metal Products Co., Ltd.

B 3N, Sorih olf Nerghat Hoad, Nanghai Coerdy
Ninghe Uity hagia Privere: Chins 305608

Cerilicate’s WhaicPng Miltol Produsts Cou o,
T m;:m"m.aum v, 5
.

i e coniy et ey v .
WEICHENG METAL FRODLUCTS I:I:I.| LT

b By i ey NEF-TRH el Foiall 10 bs i iy Ve the Fllawing whainlard

o BB 1619200

G 1900 - 200 TS Crie | =198

Tnin e s v
SPRODLCTION AND SERVICES OF STEEL CASTING®
o b - S DY 1'&1.“ ﬂdm

AN AZS] Conioe CFA CFAM, CFIC

Wanilicalian fe: T
ASTRA |4 SR AR ISR A

Serpe ol gsiraio:
Madifiches af Prosiae Castiag (i Shifl Lo, bemiak, ool Uil
Exclusirans: Prodac Dsdpn

- LATE Ciralionts Hamber
" ot b, ;-" 2
Carifais Tea D FEAAY-3854 E -
Tghiaging T 1RALAY 28 | ik
Faparataca Taty® %M AY-2001 Wi Frppmalien, Torirsind
Cpesiom, K9S0, Lid

H5F International Siraleg e Registralions

TER Hits Do Biomd, i A, Wisfogen S0 | [084) FSF 000 | Mewr ki o

lel: 86-574-82824608
Fax : 86-574-82824600
Mail : sales@bainel-autoparts.com

Website : www.bainel-autoparts.com 2 -
Office Add : AUTQ I. f—\_l, 1 b

Rm1801,No.88 Qianhe South Road,Ningbo,China
Plant Add :

No0.388,Xinghai North-Road, Ninghai County, Ningbo, China

— -y




